


m a7 12 7 h(Imperative Program)

Go to the center of the garden ;
Find a rabbit ;

Hold her ;

Bring her to your home ;

Give her a bit of lettuce ;

Bring back her to the garden ;
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print( 2 )
print( 3 )
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4 ¢ print( 1); print( 2 ); print( 3 )
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if - else 3
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x <=200
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o if x>100:
y =10
else:

y =20

i3 & it DM

® y=10if x>100 else 20 # Python

® y=(x>100)7?10:20;
e =IF(x>100, 10,20 )

// Java, JavaScript, C/C++, C#
EXCEL
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mET EL
N [ N N W = KAR
o LhS - THEILIELYY
J:7b ol }/‘ l[‘i) 5 < N lambda S LY
N DS—FHAR SN D3 o lee A
N
or 7—I)LiEE OR
and 7—I)LiEE AND
not x 7—I)L;EE NOT
in, not in, is, is not, <, <=, >, >=, |=, == FIBVYE—MDTANZ2ET LR
| Ew MBI OR
A Ew NB{Z XOR
& Ew NEf{I AND
<<, > V7 NEE
;g MEHE X VHE
1T /. \ t | 7. \ ZIN\
© @ / /) % {i;]%\ TAEE, BRE. VUDBTRE. &R
+X, =X, ~X E#. 8%, Ev ME{ALNOT
- NZEFE [6]
await x Await I
x[index], x[index:index], x(arguments...), x.attribute ;;z?%i‘ A7 AR BUOHLL, BES
(expressions...), BARE o GENR, UR MRR, BER

— A —
[expressions...], {key: value...}, {expressions...} T RERT




70275 L DIREEEL

)

o 7/
BRI —EDIREICH 5 Z 245 T
o 70177 LDIKEZER (State Transition)
7

= LBDMEDBE D Zb>TW»W I EZ2FT

0 77 I DIRRE(State)

\




public class Transient|
public void man{ Siring | Jarg 3|

int x;
x=1U;
x=x+11;
Xx=x-/5;
x=32/4;

X MEANEREAER>TING
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o HEL
» R LTZDEIZT: DX DEL
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» 19 2%8 3L7 4L6 5&5

14-9=10+4-9=10-9+4=1+4=5
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» HMIHRT A E 112 B8
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® 10000 782D 2D E-OD

> 10D FHEL = 9D M F+1

» 9ODMEEZ. R LI A ALY

2107 + 1 = 2108
® 14683 782D ZDEHOD

14683 = 10000 + 4683
14683 — 7892 = 10000 — 7892 + 4683
=2108 + 4683 = 6791
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